i R

#“2

RNETE

BT

-

ZihFEH

LT E| - 5T TH3F

I

EEhEIZkd

READMR

148H

¥2,960,000

BiAl

R#No

001

SH5FE1/108

3%
feln

H fiffi

&

#

FRIE

170,000

RETE

EETH

693,000

BRTE

1,082,000

BR4LITFIER

140,000

YL IHE

330,000

w|v|o|a|a|w|n|=|F

—y

15,000

225,000

SHER

—y

o|®

200,000

ZER . ERRR

—_ o= == === |—=

o | o (o [ | o [

120,000

[

KRR ELAORE EHEERTHLET .

i, 4 JES b ]

4 b

a .13

2,960,000

(Bik)

No.1



RmMEMEE NO. 1
1 BT -
-3 1l = 20,000
HEME 1] =R 10,000
REMUNSE 1] = 90,000
BHLE 1] = 30,000
BiGEH 1 = 20,000
1] =

BIEELY)—=2T

X6

I\

170,000

(B30)

No.2



LR LR

NO.

2

2 RETE

=X uF MR

ki

XFHER 5 ARl

35,000

ik

ERE

<t
*

B

op

IVEHRE

X

h

(B30)

No.3



LR 8N K NO. 3
3 EETE

hoE—T i 1 = 190,000
H o 3—KIR 11 = 220,000
R LERYfTHETE 1] = 65,000
LGS T it 14| Tk 3,100 ik
PBREY 28| F( 3,100
REITEE 10| Fk 13,000 130,000 REZRYIZED
RAAVTRT 1| & 18,000 AFEAEETF
AR 1] =R 45,000
BI&M 1l = 25,000

I\

693,000

(B30)

No.4



LR 8N K NO. 4
4 BT -
KiE |BKEE 6] m 14,000 84,000
HEKEE 6] m 14,000 84,000
Kig 4| @& 12,000 48,000
HERBRECH 1] = 35,000
BI&M 1 = 30,000
BR |[TL—h—% 1] =& 70,000 INA—B—EE
avtok 10| #&r 6,000 60,000
AAVF 2| AR 6,000 12,000
RAXRAVF 2| &P 12,000 24,000
BEFRKE 1| e 75,000 75,000
BAFBER 1] = 120,000
HHRL—IL 25 m 6,000 150,000
BRI E 1l = 90,000
BAKER 1 =% 60,000
BI&M 1] = 50,000
FAERIER T3 3| &R 30,000 90,000

I\

1,082,000

(B30)

No.5



LR 8N K NO. 5
5 t. ] Lo
BEERFRBEE =% 90,000 BHEEEEE
THERE = 30,000
BI&H = 20,000

h

140,000

(B30)

No.6



LR LR

NO.

6

6 LI

ik

h

(BeA)

No.7



LR 8N K NO. 7
7 HEaE

BTAEE 1| & 120,000

20 1| & 40,000

L5y KERSYT R H 1| & 30,000 bl

35 ORI kEE 1| & 120,000

SUS& 1l &

HEE 3| AX 20,000 b2

=¥ 1] =& 20,000

XIA—FET—T ) —aBFFNAETH

n .13

330,000

(B30)

No.8





